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Unit 2 Review. 2A-2C

1. Convert to vertex form by completing the square.
y=4x*+2x—75
y+5=4x%*+2x

y+5 1 1 1
T+R—x +§x+E
y+5 1 1)2
ﬁr+ﬁ—@+ﬁ
y+5 ( 1)2 1
I o) ——

4 4 16

: 1\ 1
y5=4(x+g) -3

2. Find the equation of the line through (2,3) and (4,7) in slope-intercept form.

_7—3_2
mEy=2"
y—7=2(x—4)
y—7=2x—4
y=2x+3

3. Solve with the Square root method
3(x+4)?2=8
26 26
x=—T—4orx=T—

4. Solve with the Square root method
2y? —8 =6 —2y?
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5.

Solve by completing the square.
x>+ 6x=7
x=—7o0rx=1

Solve by completing the square.

2 754 2=0
X X 4—

7 7
x=§—\/110rx=\/11+5

Solve by completing the square.
2x2—7x+9=(x—-3)(x+1) + 3x
x=20rx=6
Solve using the Quadratic Formula.
x2+8x—-2=0

x=-3V2—40orx=3V2—-4

Solve using the Quadratic Formula.
3x + 4 = x?
x=—1lorx=4

10. Solve using the Quadratic Formula.

x2 —2x+6=2x%—6x—26
x=—-40rx =28



